Forslovs BK

Mandag 2019-12-02

Partavling, 5 bord, 9 par. Antal brickor: 24. Medel: 71.8. Frirond (*) ger egen procent.

Plac Par Poang % Namn MID Klubb
1 3 82.1 57.02  Maj-Britt Nilson - Walter Olsson 36442 36441 Forslovs BK
2 4 82.1 56.99 Goran Wennergren - Karl Lundgren 5451 36443 Munka Ljungby BS - Forslovs BK
3 8 81.3 56.48 Anders Nilsson - Britt Nilsson 40147 40299 Forslévs BK
4 10 80.2 55.67 Tore Karlsson - Jan Henrysson 87604 40790 Forslovs BK
5 7 70.7 49.12  Elsie-Marie Andersson - Bengt Andersson 59665 59653 Forslovs BK
6 1 69.5 48.26  Magnus Ottosson - Eskil Andgren 6041 60203 Forslovs BK
7 5 65.8 45.69 Ulf Lannes - Olle Lundh 84949 88772 Forslévs BK
8 2 64.5 44,78 Inge Palsson - Eva Svensson 40712 84952 Forslovs BK
9 6 50.4 35.00 Britt Lundgren - Eva Sjogren 42905 84950 Forslovs BK
1 483 Basta kontrakt 2 4 EKn4 Basta kontrakt 3 ~ E82 Basta kontrakt
Nord vD76 5¢v O =-450 Ost v EK102 4¢ O D -3500 Syd v 109842 2¢ V =-90
Ingen ¢ E97 NS ¢+ ED2 ov *4
#KD742 & ¢ v & NT »K82 & ¢ v & NT #DKn98 & ¢ v & NT
4 EK10754 4D9 N76 235 4 K9652 4108 N76 9609 & KKn6 4 D954 N857 56
vK10542 vKn83 S76 235 v 86 v54 S76 969 vKDKn73 v6 S 85756
¢- ¢KKn8432 O 6 7 11107 ¢ Kn7 ¢K109865 O 6 7 4 7 4 ¢ K10 ¢EKn9532 O 586 77
#85 *E3 vV 6 7 11107 D976 #E104 V67474 #1032 #54 V58677
4 Kn62 «D73 41073
vE9 v DKn973 vE5
+ D1065 +43 + D876
#Kn1096 #Kn53 »EK76
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
3 6 3¢0-3 vA 150 6.0 00|10 5 4v N= *A 620 6.0 00|10 5 3&4S= +K 110 6.0 0.0
10 5 44 V-2 &2 100 40 20| 3 6 3NN= *T 600 40 20| 2 4 3¢0-1 *K 100 3.0 3.0
7 8 24V= &K -110 20 40| 7 8 3v N+1 +5 170 20 40| 3 6 2v V-1 +4 100 3.0 3.0
2 4 4v V= *Q 420 00 60| 2 4 4v N-1 va -100 00 60| 7 8 2¢O= vA -90 0.0 6.0
-1 3.7 -1 3.7 -1 3.7
4 4 D32 Basta kontrakt 5 & EKD7 Basta kontrakt 6 454 Basta kontrakt
Vast v Kn983 3v N =140 Nord v72 3vy OD-1100 Ost v 983 44 S D -3-500
Alla ¢ ED72 NS + Kn9 ov + K763
»K3 & ¢ v & NT #EK843 & ¢ v & NT #Kn762 & ¢ v & NT
4 K8654 4Knl07 N59 957 4Kn86 41094 N9 8373 4 KD2 4 Kn7 N36 373
vE2 vD75 S59957 va vEKKn98653 S 9 8 3 7 3 v 64 vEDKn1052 S 3 6 3 7 3
+84 ¢ K93 084485 ¢ EK762 ¢4 045844 ¢E5 ¢ DKn8 O 106 106 9
#E842 #DKnl106 V84485 #9765 #10 V452844 #K109543 &E8 V 106 106 9
4 E9 4532 « E109863
v K1064 vD10 vK7
+ Kn1065 + D10853 410942
%975 #DKn2 «D
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
10 6 2v S+1 *A 140 6.0 00| 3 5 3vO+1 +5 -170 6.0 00|10 6 2vO= *Q -110 6.0 0.0
4 7 2vS= 46 110 40 20| 4 7 5#N-2 vA 200 40 20| 4 7 3vO+1 s A -170 4.0 2.0
3 5 2eV= *7 -110 20 40| 8 1 4v 0= &2 -420 10 50| 3 5 3NV+1 a5 -630 2.0 4.0
8 1 24V+1 2 -140 00 6.0|10 6 4vO= *Q -420 10 50| 8 1 4vO+1 *Q -650 0.0 6.0
- 2 24 - 2 24 - 2 24
7 43 Basta kontrakt 8 « DKn8 Basta kontrakt 9 4 D972 Basta kontrakt
Syd v EK43 3v S =140 Vast v Kn64 44 V D -2 300 Nord v 65 34 O =-140
Alla + Kn1083 Ingen + E652 ov ¢+ E54
#KDKn9 & ¢ v & NT #KD10 & ¢ v & NT #10532 & ¢ v & NT
4ED75 4Kn98 N7 7 86 8 4 EK9652 4743 N 7 107 5 9 4106 4EKKN853 N 5 4 7 4 4
v 98 v Kn1052 S7896 8 v2 vK109873 S 7 107 5 9 v732 v EKn S547 33
¢+KD752 +9 065465 +87 +10 06 368 3 ¢ K102 ¢ D986 0796 96
»E7 4108543 V654675 #E973 2542 V636283 #KD964 #Kn V7969¢€6
& K10642 410 a4
vD76 vED5 v KD10984
+ E64 + KDKn943 +Kn73
*62 #Kn86 *E87
Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang Par  Kontr Ut Res  Poang
4 6 3vN= +9 140 60 00| 1 2 5¢N= *2 400 6.0 00| 4 6 4¢ 0O-2 vK 200 50 1.0
1 2 INN+1 &5 120 30 30| 4 6 44DV-2 A 300 40 20 (10 7 440-2 vK 200 50 1.0
5 8 INN+1 v2 120 30 30| 5 8 3¢ S+2 v2 150 10 50| 1 2 340-1 vK 100 1.0 50
10 7 2v N= +9 110 0.0 60|10 7 4¢ S+1 v2 150 10 50| 5 8 44 0-1 vK 100 1.0 5.0
- 3 3.6 - 3 3.6 - 3 3.6
10 a- Bésta kontrakt 11 465 Bésta kontrakt 12 ~ E8643 Bésta kontrakt
Ost v 7542 6¢ S =1370 Syd v KD1065 44 V =-420 Vast v K8764 5¢v N =650
Alla + DKn98542 Ingen + 1087 NS + K107
«D5 & ¢ v & NT #1096 & ¢ v & NT *- & ¢ v & NT
4 K987652 D10 N 5 12115 11 4 EKN74 4 K932 N26512 4 Kn9 «D72 N6 6 11109
v9 v KKn103 S 5 12115 11 v8432 v97 S26522 v3 vE52 S 6 6 11109
*7 +6 081271 ¢ ED5 496 O 107 8 108 ¢ E95 486432 077234
#10743 #KKn9862 VvV 81271 #EK #D8743 V 107 8 108 #E1076543 #D2 V77234
4 EKn43 4 D108 4 K105
vED86 v EKn v DKn109
+ EK103 + KKn432 ¢ DKn
&E #Kn52 #KKn98
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
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5 7 4vS+1 ¢7 650 60 00|10 8 34V-1 vK 50 6.0 00|10 8 4y N= 49 620 6.0 0.0
10 8 2NS+4 49 240 40 20| 2 3 340= *K -140 40 20| 5 7 3a4V-2 v4 100 30 30
2 3 2NS+2 a5 180 20 40| 5 7 24V +2 *7 -170 20 40| 6 1 4aV-2 s A 100 3.0 3.0
6 1 14S-2 v9 200 00 60| 6 1 INV+4 v5 -210 00 60| 2 3 54DN-1 «Q -200 0.0 6.0
- 4 3.9 - 4 3.9 - 4 3.9
13 4 K654 Basta kontrakt 14 493 Basta kontrakt 15 4 EDKn Basta kontrakt
Nord v Kn3 4v O =-620 Ost v EKKn985 5v SD-2-300 Syd vE9 6NT S = 1440
Alla ¢+ D84 Ingen +94 NS ¢ 109764
»D876 % ¢ v & NT #D102 & ¢ v & NT #EK2 & ¢ v & NT
«Kn8 D972 N5 4344 «EDKn4 4 K10865 N479 26 # 963 #1072 N 10129 1212
v E86 v D9752 S54354 v10 v43 S47 926 vKn632 vD875 S 10129 1212
¢ EKKn63 ¢ 10 08 9 108 9 +87 ¢ KKn102 09 6 3 105 ¢+Kn85 ¢D3 031311
«E109 *K42 vV 8 9 108 9 #E98764 #K5 vV 9 6 3 105 #DKn7 #9865 v3iisdill1l
«E103 472 4 K854
v K104 v D762 v K104
49752 + ED653 ¢ EK2
#Kn53 #Kn3 #1043
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
7 2 3NV-2 *6 200 60 00| 1 10 34 0= v6 -140 60 00| 7 2 64S= &Q 1430 6.0 0.0
3 4 4v0-1 aA 100 40 20| 3 4 44 0= ¢*A 420 3.0 30| 1 10 3NS+3 v2 690 3.0 30
6 8 2NV +1 a5 ;150 20 40| 7 2 44 0= v6 -420 3.0 30| 3 4 3NN+3 v7 690 3.0 3.0
1 10 1vDO+3 3 -760 00 60| 6 8 44 O+2 +J 480 00 60| 6 8 3NN+1 v5 630 0.0 6.0
- 5 2.7 - 5 2.7 - 5 2.7
16 472 Basta kontrakt 17 « EKn97 Basta kontrakt 18 « D2 Basta kontrakt
Vast v K10 4¢ N =130 Nord v Kn82 4v O =-420 Ost v 9432 ANT V =-430
ov + D1053 Ingen + EKKn NS + KD3
#ED1096 & ¢ v & NT #Kn108 & ¢ v & NT *K965 & ¢ v & NT
«KDKn «E1064 N 10107 8 8 45432 «K8 N37 375 «KKn107 «38 N35363
v9652 vKn873 S 10107 8 8 vED4 v10976 S$37375 v10865 vEKKn S$35363
¢Kn97 ¢ E8 022655 ¢7643 ¢5 O 105 105 7 ¢ EKn ¢ 10965 O 108 106 9
#KKnS #4432 V22655 D4 #EK9765 VvV 105 105 7 #ED3 #Kn10872 VvV 108 107 10
#9853 D106 & E£96543
vED4 v K53 vD7
+ K642 + D10982 * 8742
»87 #32 *4
Par Kontr ut Res  Poang Par Kontr ut Res  Poang Par Kontr ut Res  Poang
4 5 2¢ S+2 oK 130 6.0 00| 2 10 1a N= *A 80 6.0 00| 2 10 2+ V= +Q -90 6.0 0.0
8 3 2¢S+1 oK 110 40 20| 8 3 2NN-2 *A -100 40 20| 4 5 2NV+1 *6 -150 4.0 20
7 1 Pass 20 40| 7 1 3+0+1 +Q -130 20 40| 8 3 24S-2 *A -200 2.0 4.0
2 10 2#N-1 ¢A 50 00 60| 4 5 2vN-3 A -150 00 60| 7 1 3NV+1 5 -430 0.0 6.0
- 6 17 - 6 17 - 6 17
19 497 Bésta kontrakt 20 & DKn53 Bésta kontrakt 21 494 Bésta kontrakt
Syd v D973 3a4 V =-140 Vast v DKn6543 5¢ V =-600 Nord vED763 24 OD-1100
ov ¢ KDKn6 Alla ¢+E NS ¢ E752
#K82 & ¢ v o NT *E6 & ¢ v o NT *D6 & ¢ v o NT
4Knl1052 4EKD6 N6 67 46 » EK6 « 1087 N3 2853 4 K7653 4 EKnl10 N6 7857
v EK6 v 542 S667 36 vEK v10 $32853 v8 v KKn42 S67857
¢ 109 ¢ 8432 076697 ¢ K75 ¢DKn10843 O 10115 6 9 410984 + Kn6 066576
#Knl1075 #E6 V766297 #Kn10743 #K92 vV 10115 7 9 *972 #EKn85 V66576
4843 4942 « D82
v Kn108 v 9872 v 1095
¢E75 ¢ 962 ¢ KD3
»D943 «D85 #K1043
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang
5 6 440-1 ¢ A 100 60 00| 5 6 3NV-1 vQ 100 6.0 00| 3 10 2v N= +6 110 6.0 0.0
1 4 340= ¢5 -140 20 40| 8 2 2NV+1 v3 -150 40 20| 1 4 240-1 v9 50 40 20
3 10 1a V+2 +K -140 20 40| 3 10 4vyDN-1 &2 200 20 40| 5 6 2vN-1 +6 -100 10 50
8 2 240+1 v8 -140 20 40| 1 4 4vyDS-2 5 -500 00 60| 8 2 3vN-1 +6 -100 10 50
-7 2.6 -7 2.6 -7 2.6
22 46 Basta kontrakt 23 4 D8743 Basta kontrakt 24 4 Kn764 Basta kontrakt
Ost v K9 3NT O =-600 Syd v EK93 5& V =-600 Vast v 86 6NT V =-990
ov ¢ D1076532 Alla 2 Ingen ¢ 62
*K104 & ¢ v & NT *K52 & ¢ v & NT #KKn1092 & ¢ v & NT
D10 & K8742 N46654 #EKn1095 46 N2 4444 «D8 « EK103 N41111
vEKn8 v D52 S 46664 v74 v DKn85 S24455 vEK103 vD97 S41111
¢ EKKNn84 +¢9 o7 7779 ¢EDKn4  ¢753 O 119 8 8 8 ¢ KKn83 ¢ 1075 09 12121212
#D62 #E985 v777729 #DKn #E10983 vV 119 9 8 8 #865 *ED7 vV 9 12121212
4 EKn953 a K2 4952
v 107643 v 1062 v Kn542
*- ¢ K10986 ¢ ED94
#Kn73 *764 #43
Par Kontr Ut Res  Poang Par Kontr Ut Res  Poang Par Kontr ut Res  Poang
6 7 44 V-3 v9 300 60 00| 6 7 2vN-1 46 -100 60 00| 2 5 5NO-1 9 50 6.0 0.0
1 3 3#0-2 v6 200 30 30| 4 10 INO+1 +8 -120 40 20| 1 3 3NO= v2 -400 3.0 3.0
4 10 34 V-2 *4 200 30 30| 2 5 3aV= vA -140 20 40| 4 10 3NO= *4 -400 3.0 3.0
2 5 4¢DN-3 @A -500 00 60| 1 3 3vsS-2 aA -200 00 60| 6 7 3NO+1 ¢ A -430 0.0 6.0
- 8 3.0 - 8 30 - 8 3.0
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